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Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different
departments of an organization along with the Male and Female ratio is

given.
Regular Employees |[Contractual Employees
Departments Total Number Ratio Total Number Ratio
M |F M |F
IT 250 1 (1 [240 2 |1
Accounts 123 2 |1 (130 3 |2
HR 90 3 |2 |30 2 |1
Marketing 350 5 |2 343 5 |2
Production [304 5 |3 |351 5 |4

ATfreT &1 3reaay &3 R ISP T fRT M ugi FIW S :
T & 7§ Sifere A B wreT & ARt faur & oo sd=fal @ S=m aur vy iR

Afger srgura faam mar B

rafia sHEr Tfaer smutid wHaRt
U . Ut . 3UTd

ﬁmwmwm ——
ams & 250 1| 1 240 2 | 1
RECL 123 2 | 1 130 3| 2
CISCKGINE] 90 3 2 30 2 1
ICRLE] 350 5 | 2 343 5 | 2
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Sared | 304 |53 | 351 |5] 4 |

What is the respective ratio of the total nhumber of female employees in
the marketing department to the total number of female employees in the
production department?

fauor faurT o afgar sdaial #1 $o GBI 9yt areA furT & afger syl ot
$d G-I & S 1 IUT ? ?

Options:-

«»11/13/11/13, Option ID :- 4850,
« 11/15/11/15, Option ID :- 4852,
«» 12/13/12/13, Option ID :- 4849,

«» 12/17/12/17, Option ID :- 4851,
Answer Given:- 11/13/11/13, Option ID : -4850

Question ID:- 1214
Study the given table and answer the questions that follow

Given below is a table in which the total humber of employees in different
departments of an organization along with the Male and Female ratio is
given.

Regular Employees |[Contractual Employees

Departments Total Number Ratio Total Number Ratio

M |F M |F
IT 250 1 |1 240 2 1
Accounts 123 2 |1 (130 3 |2
HR 90 3 (2 |30 2 1
Marketing 350 5 |2 |343 5 |2
Production [304 5 |3 |351 5 4

ATIPT BT I B MR TP A T MU Ui F IR S :

= & 7€ arfereT # f6d T & fafi fRurt o pa snfval $ S 9yt v 8k
Hige srgura faam mar |

faumT Fraftra st faer smearid HHaRY
A YW [3UId [P J@ |3
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| [gey [wfge gy [afgar
3ms & 250 1| 1 240 2 | 1
Sar 123 2 | 1 130 3| 2
BIECKSRINE] 90 3| 2 30 2 | 1
fauu= 350 5 | 2 343 5| 2
CRUCE 304 5| 3 351 5| 4

Find out the difference between the number of contractual
male employees and the number of contractual female employees in the
organization.

e # wfaer smenfya qou sy & W@ aur dfaer snutfva afger sdaial #t
T&T & g 3id” JTd DY :

Options:-

:295/295, Option ID :- 4854,

» 298/298, Option ID :- 4853,

» 302/302, Option ID :- 4855,

« 307/307, Option ID :- 4856,
Answer Given:- 302/302, Option ID : -4855

Question ID:- 1212
Study the given table and answer the questions that follow

Given below is a table in which the total humber of employees in different
departments of an organization along with the Male and Female ratio is
given.

Regular Employees |Contractual Employees

Departments Total Number Ratio Total Number Ratio

M |F M |F
IT 250 1 |1 240 2 1
Accounts 123 2 |1 (130 3 |2
HR 90 3 (2 |30 2 1
Marketing 350 5 |2 |343 5 |2
Production [304 5 |3 |351 5 4

ATRIPT BT T B R TP A T MU Ui F IR S :
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= & 7€ arfereT # fHd T & At fAurt o ga snfval $ S 9y v Sk
Afge srgura faar mar 3|

Frafte At Tfaer smutia sHar)
faumT . |ergura : 3T

T ST — mwm ——
3 <t 250 1 | 1 240 2 | 1
SECI] 123 2 | 1 130 3| 2
CIECRSEINE] 90 3| 2 30 2 | 1
faqor= 350 5 | 2 343 5| 2
IATGH 304 5| 3 351 5| 4

Find out the difference between regular male employees and contractual
male employees in the organization.

?ﬁﬁuﬁamﬁhﬁﬁv#ﬁmmﬁwﬁﬁﬁaﬁﬁwwﬁm

Options:-

»2/2, Option ID :- 4845,
» 3/3, Option ID :- 4846,
« 4/4, Option ID :- 4847,

« 5/5, Option ID :- 4848,
Answer Given:- 3/3, Option ID : -4846

Question ID:- 1211
Study the given table and answer the questions that follow

Given below is a table in which the total humber of employees in different
departments of an organization along with the Male and Female ratio is
given.

Regular Employees |[Contractual Employees

Departments Total Number Ratio Total Number Ratio

M |F M |F
IT 250 1 |1 240 2 1
Accounts 123 2 |1 (130 3 |2
HR 90 3 (2 |30 2 1
Marketing 350 5 |2 |343 5 |2
Production [304 5 |3 |351 5 4
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ATfeTehT BT AT B R ITP A RTE MW Ui F IR < :

= & 7€ arfereT A fHt Wrea F fafia fAur & g sHwTial @ G@m 9yt By iR
Afger srgura faar a3

rafie svart Tfaer smutia s+
faumT . |ergura : 3T

P BT — mﬁm ——
Mg & 250 1| 1 240 2 | 1
SECI] 123 2 | 1 130 3| 2
CIECE NI 90 3| 2 30 2 1
faqo= 350 5 | 2 343 5| 2
TG 304 5| 3 351 5| 4

Find out the average number of regular female employees in the
organization.

e # frafia afgen sl @t siaa @@ 3 & :
Options:-

»78.50/78.50, Option ID :- 4843,

= 79.40/79.40, Option ID :- 4844,

» 81.25/81.25, Option ID :- 4842,

» 83.20/83.20, Option ID :- 4841,
Answer Given:- 83.20/83.20, Option ID : -4841

Question ID:- 1215
Study the given table and answer the questions that follow

Given below is a table in which the total nhumber of employees in different
departments of an organization along with the Male and Female ratio is
given.

Regular Employees |Contractual Employees
Departments Total Number Ratio Total Number Ratio
M |F M |F
IT 250 1 |1 [240 2 |1
Accounts 123 2 |1 |130 3 |2
HR 90 3 |2 |30 2 |1
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Marketing 350 5 343 5
Production [304 5 |3 |351 5 4

N
N

ATeThT BT AT DY R ITP A RTE MW Ui F IR < :

= & 7€ arferer A fHt Wrea F Al fAun & pa sHaTial @1 §@ 9ur BV iR
Hfger srgura faar B

rafia syt Tfaer smutiva s+
faumT ___ |eruTa : 3UTd

T TSI — mw'\q‘@n o
3ms & 250 1| 1 240 2 | 1
SECI] 123 2 | 1 130 3| 2
EIGCEKSRINE] 90 3| 2 30 2 | 1
IELLE] 350 5 | 2 343 5| 2
CRUCE 304 5| 3 351 5| 4

Which department has the highest humber of female employees?

fra fqumt & afiten sHofal 3t waifte wen @ 2
Options:-

.Accounts/a@, Option ID :- 4859,

. IT/3g €1, Option ID :- 4857,

. Marketing/ﬁ'!TUH, Option ID :- 4860,

» Production/3dlg, Option ID :- 4858,
Answer Given:- Production/3dlgHd, Option ID : -4858

Subject : GP_24NOV_SH2_B

Question ID:- 1228

Given below are two statements, one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Communication must include the transfer and understanding
of messages and their meanings.

Reason R: Achieving perfect communication is a technical possibility.
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In light of the above statements, choose the correct answer from the
options given below

T gl pYA T W § : Tw AFUBYT (Assertion A) F FU | 3R gIRT ITS HRUT
(Reason R) & U H :

;Tl'f%?ﬂ:r (A) : T § =N 3R IF YT BT 301 3R Ay 3ra=y Jfwferd g
|

HRUT (R) : TRYUT OGO HT AT U BT TP dob-11d! U B

SWIad HYAl & AP U, - fRr fawedl & 9 Tl IR &1 79 Difog :
Options:-

.A is false but R is true/(A) ¥g! T8l 8 W (R) W&l 31, Option ID :- 4912,

. A is true but R is false/(A) Tg! 8 W= (R) T&! 78l 31, Option ID :- 4911,

» Both A and R are true and R is the correct explanation of A/(A) MR (R)
Y 981 & 3R (R), (A) P! Ug! ST 81, Option ID :- 4909,

» Both A and R are true but R is NOT the correct explanation of A/(A) 3R
(R) T 981 € IR+ (R), (A) ! Tt ASAT I8! g1, Option ID :- 4910,

Answer Given:- A is true but R is false/(A) g 8 IR (R) ol T-I'(»pfél, Option
ID : -4911

Question ID:- 1253
Nalanda was established in

ATcigT B RITIAT H9 g8 A ?

Options:-

»2"d century/g¥RY TATEl, Option ID :- 5009,
= 3" century/dIR T€TE], Option ID :- 5010,
. 4th century /=t Trarsdl, Option ID :- 5011,

= 5th century/uied} Tar<dl, Option ID :- 5012,
Answer Given:- 4th century /=t TaTsdl, Option ID : -5011

Question ID:- 1247

Protection from Ultraviolet Radiations as envisaged under the Montreal
Protocol also contributes to following SDGs

Aifead Meleid 3 1 718 RS & IR WIS fafeor & dvemr Fafafaa d |
g v St St § ot e FRaT @ ?
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Options:-

.SDGs 10, 16, 17/TH 31 Sl 10, 16, 17, Option ID :- 4986,

= SDGS 3, 11, 14, 15/TH 31 &t 3, 11, 14, 15, Option ID :- 4985,
- SDGs 4, 5, 11, 17/Tg SISt 4, 5, 11, 17, Option ID :- 4987,

» SDGs 8, 10, 12/T I it 8, 10, 12, Option ID :- 4988,
Answer Given:- SDGs 4, 5, 11, 17/849 Sl st 4, 5, 11, 17, Option ID : -4987

Question ID:- 1221

Independent verification of a research effort is known as

Pt My YT &1 WdT TAIA T ATl § ?
Options:-

« Enquiry /Y31, Option ID :- 4881,

= Investigation/3[<ayUl, Option ID :- 4884,
= Probe/Wlid, Option ID :- 4882,

= Replication/J-R1gfI, Option ID :- 4883,
Answer Given:- Replication/EFR'Iqﬁ-r, Option ID : -4883

Question ID:- 1217

Which of the following are the characteristics of an adolescent?
A. Increasing independence from adult control

B. Rapid physiological changes

C. Emotionally matured

D. Acts rationally

E. Increased focus on activities with peer groups

Choose the correct answer from the options given below:

ol @t Fafafaa @ @ o9 @ Qv § 2
A. TP B 01 | Fgdt wad=ar

B. dtg wHifasne uRada

C. HATHS U & IRUS

D. dife eI A fopar B
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E. TG THE! & 1Y fafafia) wv it e &

1 for ¢ faweul 9 | 98 IR &1 994 BT :

Options:-

«A and B only/aﬁﬁ A 3R B, Option ID :- 4865,

= A, B and C only/%4dd A, B 3R C, Option ID :- 4866,
= A, B and D only/%dd A, B 3R D, Option ID :- 4867,

« A, B and E only/%dd A, B 3R E, Option ID :- 4868,
Answer Given:- A, B and C only/%ﬁ A, B 3R C, Option ID : -4866

Question ID:- 1222

Which of the following are characteristics of quantitative research?
A. Questions are open-ended

B. Identified variables are measured

C. Questions are standardized

D. If the sample size is large, the findings can be easily generalised
E. It is difficult to fix the level of measurement

Choose the correct answer from the options given below:

fFufafaa & ¥ 19 A arEs My F fadvane € 2
A. U¥ -SRI B g1

B. 3ifufAreifea ==Y &1 W= foran siman 3

C. U8 HH®IPd gid B

E. A9 ¥R T BT HfS gl g

I fou ¢ fasedt d @ 98t S &1 999 ST :

Options:-

«A, Band C onIy/W A B 3R C, Option ID :- 4885,
« A,CandE onlylaﬁlﬁ A, C 3R E, Option ID :- 4888,
=« B, C and D only/%dd B, C 3R D, Option ID :- 4886,

» C, D and E only/%4dd C, D 3iX E, Option ID :- 4887,
Answer Given:- A, B and C only/%ﬁ A, B 3R C, Option ID : -4885

https://ntaresponsesheetphase2.cbtexam.in/ugcnet/candidate/responsesheet.aspx?Urlval=b94b764d-8a3d-4525-a350-d738ae74d4b7&Rollno...

D. I yfaesl &1 PR 9T g, f fAswul &1 T A =S fHar &1 ot gl
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Question ID:- 1219

Match List I with List II

List I List II

Institutions Offering Courses Through ]

SWAYAM Level of Education

A. NCERT I. Post school education

B. IGNOU II. Und_ergraduate
education

C. CEC III. Po_stgraduate
education

D. UGC IV. School Education

gt -1 & gt -11 | JRfaa S :

Choose the correct answer from the options given below:

«A -1V, B-1I,C-II, D - III, Option ID :- 4875,
«A-1V,B-1I,C-III, D - II, Option ID :- 4873,
«A-1V,B-1II C-III, D - I, Option ID :- 4876,
«A-1V,B-1III, C-1I, D - II, Option ID :- 4874,

g -1 gt -11

(¥99 & HIHHH I UTSTHH HaIferd He

T s ) (Ruror 21 w)
A.TTA S AR A %&T'a'"“
B. 3% gmmw

. @@ gr;hm“

D. g ot it IV. Yoo R

1 feu v fawedl o & 98 W giHT :

Options:-

Answer Given:- A -1V,B-1I, C-1I, D - III, Option ID : -4875

Question ID:- 1231
What comes next in this sequence?

1,2,2,4,8,32,7?

https://ntaresponsesheetphase2.cbtexam.in/ugcnet/candidate/responsesheet.aspx?Urlval=b94b764d-8a3d-4525-a350-d738ae74d4b7&Rolln...
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TR feT ¢ 3w | SRTel WEw B A gt 2
1, 2,2,4,8,32,?

Options:-

»128/128, Option ID :- 4923,

» 256/256, Option ID :- 4924,

» 64/64, Option ID :- 4922,

« 84/84, Option ID :- 4921,
Answer Given:- 256/256, Option ID : -4924

Question ID:- 1250

Which type of power plants uses the least land per unit of GWh energy
production?

HH YT BT STANT XA & ?

Options:-

. Coal /®Ig-1, Option ID :- 4998,

» Geothermal/¥drdi4, Option ID :- 5000,
. Solar/'\‘ﬁT, Option ID :- 4999,

« Wind/Udq, Option ID :- 4997,
Answer Given:- Wind/UdH, Option ID : -4997

P yPR & fagyga 9 ufd sH15 ThTaTe HeT (S S&6g Th) Sl Il & T gad

Question ID:- 1236

Match List I with List II

List I List II

A. Vyapti sense-object contact

I. An immediate valid cognition of reality due to some kind of

B. II. A source of knowledge on the basis of the likeness of
Anumana [things

C. III. Knowledge of an object due to previous knowledge of
Pratyaksha|some sigh or mark

Upamana |of inference

D. IV. The universal relation between the middle and major term

Choose the correct answer from the options given below:

https://ntaresponsesheetphase2.cbtexam.in/ugcnet/candidate/responsesheet.aspx?Urlval=b94b764d-8a3d-4525-a350-d738ae74d4b7&Rollno...
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Tgdt -1 3 It -1I | JRfaa S :

gt -1 [l -1
A. I. [t vpR & sfard afaed & s gurd
MG [T depTed a8 A

II. TS & HUAT & SMYR UR {9 T Ad

C. III. frelt Sba a1 fug & 9d 99 & YR W
Tdy  |fHdt avg @1 3=

D. IV. U & 2q Us 3R I Ug & a9 Jead
crcicilice

I fou 7T faweul o 9 O IWR gfT :

Options:-

«A-1,B-1V, C-III, D - II, Option ID :- 4941,
«A-II,B-1III,C-1I,D -1V, Option ID :- 4942,

« A-III, B-1II,C-1I, D -1V, Option ID :- 4943,

« A-1IV,B-1III, C-1I, D -1I, Option ID :- 4944,
Answer Given:- A -1I,B-1III,C-1I, D -1V, Option ID : -4942

Question ID:- 1235
Which of the following statements are correct?

A. If the cost price of an item is Rs.56 and the gain percentage is 20%, the
selling price of the item is Rs.76.2.

B. If the cost price of an item is Rs.80 and the loss percentage is 15%, the
selling price of the item is Rs.68.

C. If an item purchased in Rs.5 is sold for Rs.6, the profit is 25%

Choose the correct answer from the options given below

frafefad sy w faar Fifsm :

A. T2 f5t 9 &1 $Y T 56 TUA § 3R IH W 20% &1H ST 8, a1 I a%d PT
fawra g9 76.2 W 21

B. Ife 5t avg &7 $9 Yo 80 TUT ? 3R Iq 99 W 15% a1 a1 8, & S9 ag
31 fara Tea 68 T B

C. afe fHdl ag &) 5 Tud & WP 6 TUA # 7 SI1aT 8 ) 39 W 25% ATH BT gl
SR A AP AT / AT ISR/ & ?

https://ntaresponsesheetphase2.cbtexam.in/ugcnet/candidate/responsesheet.aspx?Urlval=b94b764d-8a3d-4525-a350-d738ae74d4b7&Rolin...  12/104
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Options:-

A and B only/&dd A 3R B, Option ID :- 4940,
«» Band C only/W B 3R C, Option ID :- 4939,
« B onIy/W B, Option ID :- 4938,

= C only/&dd C, Option ID :- 4937,
Answer Given:- C onIy/aTdFr C, Option ID : -4937

Question ID:- 1229

According to Robbins et al, the sequence of communication functions is :
A. Control

B. Motivation

C. Emotional expression

D. Information

Choose the correct answer from the options given below

T T 3T & AR U Hedl BT Tl HH 13 ?
A. frFor

B. 3fimRon

C. HIaTH® SfHaafad

D. SF®RI

W4 for T fawedl A | & IR BT 994 DT :

Options:-

«A, B, C, D, Option ID :- 4916,
« B, C, D, A, Option ID :- 4913,
« C, D, B, A, Option ID :- 4915,

« D, A, C, B, Option ID :- 4914,
Answer Given:- D, A, C, B, Option ID : -4914

Question ID:- 1246

According to Niti Ayog's SDG Index (2019-20), which among the following
states is the best performer in the attainment of SDG-5 (Gender Equity)?

https://ntaresponsesheetphase2.cbtexam.in/ugcnet/candidate/responsesheet.aspx?Urlval=b94b764d-8a3d-4525-a350-d738ae74d4b7&Rolin...  13/104
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Hifd MINT & THSISN GaHiP (2019 - 20) & FJIAR, TASISI - 5 (ARD THHAT)
e w4 § Fafafea ° 3 f59 3sa &1 uexiq wden 8 2

Options:-

-Goa/Tdl, Option ID :- 4984,

= Himachal Pradesh /A= L‘Iﬁ"«’[, Option ID :- 4982,
. Kerala/aT{H, Option ID :- 4981,

= Sikkim/fife®H, Option ID :- 4983,
Answer Given:- Kerala/aﬂﬁ, Option ID : -4981

Question ID:- 1237

Match List I with List II

List I List I1

A. I. Mutual fitness and compatibility of the constituent words in a
Sannidhi |sentence

BZ II. Expectancy between the words different in a sentences
Tatparya

C. - |III. Propinquity between the different words in a sentence
Yogyata

Dl - -

Akanks3 IV. Meaning intended by the sentence

Choose the correct answer from the options given below:

gdt -1 3 gt -11 | JRfaq S :

-1 -1

A. I. 910 § 9YUCd Teq] Bl URWR® Iugaraar
afafe (3R Hraan

B. dTcUd |I1. 919 § RMegl & o W=

gﬁm II1. 9/ ¥ fafts wrsgl & o9 9w

D.
STPHTET
i fou e faweul o A 9 IWR gfT :

Options:-

A -II, B - I, C - III, D - IV, Option ID :- 4945,
«A-II,B-1I,C-1IV, D - III, Option ID :- 4947,
« A-1III,B-1V, C-1I, D - II, Option ID :- 4948,

IV. 91 g7 Sifve ardf

https://ntaresponsesheetphase2.cbtexam.in/ugcnet/candidate/responsesheet.aspx?Urlval=b94b764d-8a3d-4525-a350-d738ae74d4b7&RolIn...  14/104
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«A-1IV,B-1II, C-III, D - I, Option ID :- 4946,
Answer Given:- A - ITII, B - IV, C - I, D - II, Option ID : -4948

Question ID:- 1239

Consider 'A' proposition as 'True' and 'False' respectively, in a square of
the opposition of propositions, then which one of the following is correct?

a& areat & fAudia o A A’ 9@ 919 B FEHY: 'TE MR e | Fufafaa A @
DI AT TS P & ?
Options:-

«'E' is Undetermined and 'O’ is False/'E’ Sfauifea % 3R 'O Tad %I, Option
ID :- 4954,

« 'I'is True and 'E' is False/'T’ ﬂﬁ % 3R 'E' Tad %I, Option ID :- 4956,
. '0' is True and 'I' is False/'O’ Tg! 8 3 'I' eid 81, Option ID :- 4953,

= 'O’ is Undetermined and 'T' is False/'0' 3ifA4ff¥d g 3R 'I' Tad 81, Option
ID :- 4955,

Answer Given:- '0O' is Undetermined and 'I' is False/'O’ Sfautfea % 3R T’
TTad 81, Option ID : -4955

Question ID:- 1240

In which of the following forms of knowledge there cannot be any
predication of the object in terms of the subject-predicate relation?

ﬁ@ﬁﬁmmm%m-ﬁ%waﬁﬁﬁmmaﬁ%ﬁﬁmﬁa
ThdT 8 ?

Options:-

sNirvikalpaka Pratyaksha/ﬁw Y&, Option ID :- 4957,
» Samanylaksana/3dTHTATETUI, Option ID :- 4959,

= Savikalpaka Pratyaksha/dfd®eus® Ud@el, Option ID :- 4958,

= Yogaja/dRTel, Option ID :- 4960,
Answer Given:- Yogaja/dRTsl, Option ID : -4960

Question ID:- 1234
Given below are two statements

Statement I: The angle between the minute hand and the hour hand of a
clock when the clock shows 3 hours 20 minutes is 25°

https://ntaresponsesheetphase2.cbtexam.in/ugcnet/candidate/responsesheet.aspx?Urlval=b94b764d-8a3d-4525-a350-d738ae74d4b7&Rolin...  15/104
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Statement II: Between 4 and 5, the minute hand and hour hand of a clock
9

will be coincident at *' 11 minutes past 4.

In light of the above statements, choose the correct answer from the
options given below

APy fREMUE :

$YF - I : gfe TS} 3 g 20 e &1 Jwg Suidl 3 a@ IT@! 6 ot g3 3R e ot
s & 19 25° &1 P11 g1 &

HYF - II : 4 3R 5 F 99 4 IoR 2l%mwu@aﬂﬁ%aﬁﬁieﬁ?ﬁq€aﬁﬁé
o a1y fAah

SWRIFd HYAI & 3MTeld A, < fow e fTeeadl & 9 g IR &1 99+ B :

Options:-

.Both Statement I and Statement II are false/®4d I 3R II eI 39 g1,
Option ID :- 4934,

. Both Statement I and Statement II are true/®49 I 3R II &I I &1,
Option ID :- 4933,

» Statement I is false but Statement 11 is true/%Yd I 34 I %, ﬁng' DY II
¥ g1, Option ID :- 4936,

» Statement I is true but Statement I1I is false/%Yd I 94 % ’ ﬁng' DY
I3 g1, Option ID :- 4935,

Answer Given:- Both Statement I and Statement II are true/$Yd 1 3R II
<l I €1, Option ID : -4933

Question ID:- 1230

Which of the following are the traits of a competent communicator?
A. Mindfulness

B. Receptive to new information

C. Thinking before acting

D. Should always go by the first impression

E. Be passive to issues around

Choose the correct answer from the options given below:

fafafad 8 @ &9 F Farq VT & F&0T § ?
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A. FIddr

B. A% WS &t Jguriierar

C. B3 fbaT H31 ¥ Uga IWS aIX # AT

D. YW YU DI U H TGHR 3R g1

E. 3N - U & qgl & ufa fAfopa g

- fou 7T fawedl A & A I &1 994 P :
Options:-

A, BandC only/aﬁﬁ A, B GﬁTC, Option ID :- 4917,
=« A, D and E only/%dd A, D 3R E, Option ID :- 4920,
« B,Cand D onIy/W B, C 3R D, Option ID :- 4918,

=« C, D and E only/&dd C, D 3R E, Option ID :- 4919,
Answer Given:- B, C and D only/%dd B, C 3{R D, Option ID : -4918

Question ID:- 1225

Match List I with List II

List I List II

Ethical concepts Source

A. Categorical imperatives I. Aristotle

B. Utilitarianism II. John Rawl

C. Golden mean III. Immanuel Kant
D. Theory of justice IV. John Stuart Mill

Choose the correct answer from the options given below:

g -1 -I1

(Afdd @yRUmY) (H1)

A. U s I. 3RE]

B. SUgIRamEag II. S 3ed

C. ¥qul HIeg II1. 3UG3d Pic
D. = F1 Rigia IV. Si9 g3 fira
i fou e faweul o 9 9E IWR gfe :
Options:-

«A-1I,B-1II C-1III, D -1V, Option ID :- 4897,
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=« A-1II,B-1III, C-1V, D -1, Option ID :- 4898,
« A-III, B-1IV,C-1I, D -1I, Option ID :- 4899,

«A-1IV,B-1I, C-1II, D -III, Option ID :- 4900,
Answer Given:-A -1, B-1I, C-III, D -1V, Option ID : -4897

Question ID:- 1244
Which of the following statements are correct?
A. Laser printers use dry ink

B. Unlike dot matrix and inkjet printers, laser printers do not use ink when
producing a document

C. Laser printers use the property of static electricity
D. Laser printers produce ozone gas and tiny toner particulates in the air

Choose the correct answer from the options given below

fFrafafed sy= & smTuR W faar sife :
A. AoR fife?l & o6 Wrdt &1 IuahT foar s 21

B. Sic Afead 3R duie fiicdl & faudia dor file’l ¥ gxads dUR $Rd TH9T [T B
ST 81 forar wirar 8|

C. AR fiiexl ¥ forw RR fagyga ot fa=iwan/qor &1 wawT giar 81
D. AR fifeX arg # 3ol A9 SR R & J&d HUT IS Hd ¢
SR AT FTAT /  HYT a1 8 ?

Options:-

«A and C only/%dd A 3R C, Option ID :- 4976,

= A, B and D only/%dd A, B 3R D, Option ID :- 4973,
« A,Cand D onlylaﬁ?r A, C 3R D, Option ID :- 4974,

=« B, C and D only/%dd B, C 3R D, Option ID :- 4975,
Answer Given:- A and C only/aﬁﬁ A 3R C, Option ID : -4976

Question ID:- 1251

Which of the following are the major recommendations of the NEP-2020
related to higher education?

A. To increase GER from 26.3% to 50% by 2035
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B. Establishment of world-class universities

C. 'Light but tight' regulation by a single regulator for higher education
D. Promoting research in science and technology

E. Opening of 1500 more universities

Choose the correct answer from the options given below:

T4 § Ut - 2020 ¥ 3= e & A9y A Fafafea ¥ @ o Ot yge el § 2
A. SIE3R B 26.3% I TGIHY 2035 TP 50% BT

B. fay - wdig fayfaemery ot wimg=m)

C. 39 Ren & v vova fafame grT 'gom1 fhg FoR (arse 9e erge)’ e
D. fag 3R Wenfiet & =My & gerar ATl

E. 1500 3R fayfaemera @ie

i fou 1T fapedt A & AEt W &1 994 P :

Options:-

«A and B only/aﬁﬁ A 3R B, Option ID :- 5001,
« A and C only/%4dd A 3R C, Option ID :- 5002,
« B and D only/%ad B 3R D, Option ID :- 5003,

. D and E only/%9d D 3R E, Option ID :- 5004,
Answer Given:- D and E only/a:_clﬁ D 3R E, Option ID : -5004

Question ID:- 1223
Given below are two statements
Statement I: Researchers in history are myth makers.

Statement II: Various movements in social history- new history - have
provided new narratives for history researchers.

In light of the above statements, choose the most appropriate answer
from the options given below

AP RT T :
HYF - I : faerd Muwal fiye - Fafar g g
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Y - II : IS sfaer™ - F¢ sfagg # fIfiw siigiai A sfas™ Muwmalsi & e
T T U HIT g

SWRIFd $YAI & 3MTeid A, 1 faw e faeadl & I g IR &1 994 B ;

Options:-

:Both Statement I and Statement II are correct/ %Y I 3R II ﬂﬂ’f Hﬁ %'I,
Option ID :- 4889,

» Both Statement I and Statement II are incorrect/%Y-d 1 3R II ﬂT-ﬁ Tedd
%'I, Option ID :- 4890,

» Statement I is correct but Statement 1II is incorrect/$4Yd I ﬂ%’f %, ﬁ’T\:[
%Y II 7dd g1, Option ID :- 4891,

» Statement I is incorrect but Statement II is correct/®Y-d I Tdd %, %
%Y II 98l g1, Option ID :- 4892,

Answer Given:- Both Statement I and Statement II are correct/®Yd 1 3R
II 3191 98l 1, Option ID : -4889

Question ID:- 1218

Which of the following are the most influential factors of learning?
A. Government policy

B. Motivation

C. Aptitude

D. Interest

E. Physical facilities

Choose the correct answer from the options given below:

frafafEd § § $19 ¥ Afrm & 999 U FR® § ?
A. WRHRT Hifa

B. SifHIROT

C. AfHgrar

D. 3if¥sfa

E. Wifa® gfaumg

I feu e faweul § 9 O IR T IUA B :

Options:-
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A, B and E only/%dd A, B 3R E, Option ID :- 4872,
« A, B and C only/&dd A, B 3R C, Option ID :- 4869,
=« B, C and D only/%dd B, C 3R D, Option ID :- 4870,

«» C, D and E only/%dd C, D 3R E, Option ID :- 4871,
Answer Given:- B, Cand D onlylaﬁﬁr B, C 3R D, Option ID : -4870

Question ID:- 1248

Among all recorded species in the world, India accounts for about

fay & frors A 7€ Toft yonfadY § ¥ wRa d @ feat yenfoai 82
Options:-

+10-12%/10-12%, Option ID :- 4990,

» 15-18%/15-18%, Option ID :- 4991,

» 20-25%/20-25%, Option ID :- 4992,

» 7-8%/7-8%, Option ID :- 4989,
Answer Given:- 15-18%/15-18%, Option ID : -4991

Question ID:- 1216

Which of the following is the highest level of teaching?

frafefad & ¥ 919 91 S=aH wR 31 e g 2

Options:-

.Memory/@jﬁ, Option ID :- 4861,

= Reflective/fawxff, Option ID :- 4863,
. Thinking/ﬁi?ﬁ, Option ID :- 4864,

. Understanding/ﬁﬂ, Option ID :- 4862,
Answer Given:- Reflective/fdwzff, Option ID : -4863

Question ID:- 1220

In a learner-centric approach, a teacher should:

SRSl - Hfgd IURH | Riere ) -

Options:-
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«clarify concepts by citing examples/3gIg30l Wqd HXF JTURUNS B WY
&A1 d1ie¢ 1, Option ID :- 4877,

. demonstrate inside the classroom/®&T & 3icI USH HIP fe@H T U],
Option ID :- 4880,

» explain concepts by using adequate support materials/qﬂfﬁr TP AT
BT STANT B MGURUNS B IRSAT B AT, Option ID :- 4879,

. facilitate student learning/3T & 3fRTH &1 MW 9T I1f8€I, Option ID :-
4878,

Answer Given:- facilitate student learning /9T & AT S ST I
iIT%'QI, Option ID : -4878

Question ID:- 1226

In the transactional type of communication, the elements are:

HHTGING WU §, < B4 §Id & ?

Options:-

.Inactive/fAfSpd, Option ID :- 4904,

» Independent/3dd, Option ID :- 4901,

« Inter-dependent/TRER 3R, Option ID :- 4902,

» Neutral/dc¥, Option ID :- 4903,
Answer Given:- Independent/¥dd3, Option ID : -4901

Question ID:- 1227

Which of the following influence non-verbal communication?
A. Avoidance of signals

B. Invisible incongruence

C. Culture

D. Geographical location

E. Contextuality

Choose the correct answer from the options given below:

Fufafeaa # @ w1 snfee TUwor & yyIfad #var g ?
A. S&dl BT URER
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B. 3rexg fawafa

C. J&pfa

D. Yiifers safufa

E. gighfear

1 for T faweul 9 | 98 IR &1 994 B :

Options:-

«A, B and C only/%dd A, B 3{R C, Option ID :- 4905,
« A, D and E only/%dd A, D 3R E, Option ID :- 4908,
« B, C and D only/%dd B, C 3R D, Option ID :- 4906,

« C,DandE only/W C, D 3R E, Option ID :- 4907,
Answer Given:- B, Cand D onlylaﬁﬁ B, C 3R D, Option ID : -4906

Question ID:- 1255

'Deemed to be University is established by

Sire fIyfeay & WU 9% gR1 3 9t § ?

Options:-

= A notification of the Central Government on advice of the UGC/q\.Gﬁ.ﬁ. |
IAE R $% WBR $I AGET §RI, Option ID :- 5019,

» A notification of the UGC on the advice of the State Government/Isd
WHR I Fag W 5., ot L= §RT, Option ID :- 5020,

= An act of the Parliament/3d3dg & Sfftrfaw gRI, Option ID :- 5017,

= An act of the state legislative assembly /30 f3U™= IHT & AfIfAaH gRT,
Option ID :- 5018,

Answer Given:- A notification of the UGC on the advice of the State
Government/ISd IRBR Bt AT W .Sl AT, BT AfERTTAT §RT, Option ID : -5020

Question ID:- 1252

Given below are two statements, one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Choice-based Credit System (CBCS) is adopted out of the
need for flexibility in the education system so that students, depending
upon their interests and aims, can choose interdisciplinary, intra-
disciplinary and skill-based courses.
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Reason R: The majority of Indian higher education institutions have been
following a marks or percentage-based evaluation system, which obstructs
the flexibility for the students to study the subjects/courses of their
choice and their mobility to different institutions.

In light of the above statements, choose the most appropriate answer
from the options given below

T gt Py RT W & : TP SfUBYT (Assertion A) & FU | 3R gERT 3TH HRUI
(Reason R) ¥ ¥U H :

SAfUBYT (A) : e yomelt § afidus &1 7 &t e | ¥@d §¢ fawew - smutia #ige
worrert (3 ft I TE) F) sruAmET 8 afF s st fis Rt ok SERAl & SER SieR -
v, sa:fauas 3R S YR UTsuHH] $T 999 B G& |

PRUT (R) :HRd T AU I RA&m AT 3i a1 ufa=ra smuria gedid yurret o1
U B I8 ¢ ; Forad ol @) vl uee & fawal 7 dwirei & diw It i
# ey § arem 3mel B

SWRIgd HYl & 3P H, i fou fawe & I 98 IR &1 99 FIfee :

Options:-

«A is correct but R is not correct/(A) T8l 8 UR=g (R) H&! 78I g1, Option ID :-
5007,

» A is not correct but R is correct/(A) Hﬁ T-Iﬁ% W] (R) ﬂ%’f %I, Option ID :-
5008,

» Both A and R are correct and R is the correct explanation of A/(A) 3R
(R) 31 &t § 3R (R), (A) ! Tgt RS g1, Option ID :- 5005,

» Both A and R are correct but R is NOT the correct explanation of A/(A)
3R (R) 1 9 & R (R), (A) F TE =aran 781 21, Option ID :- 5006,
Answer Given:- A is correct but R is not correct/(A) Tg! 3 W= (R) TE! &l
21, Option ID : -5007

Question ID:- 1238

Name the fallacy committed in the argument.

"All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets."

Choose the correct answer from the options given below
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TRRTmas AT ab IS ?
Tt T SIHER UTe SR 1
®Ig gD UTerg SIFaR 6t g
TR $© AP o SR el &

Options:-

- Affirmative conclusion from Negative Premises/T®RIH® TUR drad] I
HORTHAD ﬁW&, Option ID :- 4950,

= Exclusive fallacy/3/Ugsi® d& ¢V, Option ID :- 4951,
. Existential fallacy/3fRI~du3® d& &V, Option ID :- 4952,

= Undistributed Middle/ 3T 8¢, Option ID :- 4949,
Answer Given:- Affirmative conclusion from Negative Premises/ d®RIHD
SMYR TR A BRTHD fshd, Option ID : -4950

Question ID:- 1243

Which of the following is a disadvantage of laptop computers in
comparison to desktop computers?

ST e DI go-T H dUeiv Higex] ot fAufefad § § o9 @ v i 8 2
Options:-

«It has lower power consumption/%ﬂ'ﬁ' foorelt @1 @ud & gl %I, Option ID
- 4970,

« It has no trailing wires/39H P15 dR oA 78] Igd 21, Option ID :- 4969,

« It is easier to break or steal/?[\ﬁ ?ﬁ?F-IT T RTAT T gl %I, Option ID :-
4972,

» It is lightweight and self-contained/SH®T dulH ©H EﬁT % 3R g Wdd: tj:Uf Eﬁ?IT
21, Option ID :- 4971,

Answer Given:- It is easier to break or steal/'s’@f ?ﬁTFIT gl RTET T ﬁ?IT %I,
Option ID : -4972

Question ID:- 1249

In respect of Biochemical Oxygen Demand (BOD), the permissible Indian
standard for discharge of treated effluents in Inland Surface Waters is

SR RS AR (Y o S & oy A, MfUd af:wra #) sy gag 9
# Bl & forg wRdg Ao | § ?
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Options:-

»15.0 mg/L/15.0 fiR1./ <., Option ID :- 4995,
= 30.0 mg/L/30.0 firr./ «1., Option ID :- 4996,
= 5.0 mg/L/5.0 fiRM./ &, , Option ID :- 4993,

= 6.0 mg/L/6.0 fiRIT./ @1, , Option ID :- 4994,
Answer Given:- 15.0 mg/L/15.0 ﬁl"JIT./ wl. , Option ID : -4995

Question ID:- 1241

A spreadsheet is

dedfie @ -

Options:-

« Four-dimensional table or grid/<ddR - fattg arfereT ar ﬁl@', Option ID :-
4964,

» One-dimensional table or grid/U&® - faeig arferesT ar f?lts’, Option ID :- 4961,

» Three-dimensional table or grid/ﬁf - fovitg anferesT on ﬁl‘e';, Option ID :-
4963,

= Two-dimensional table or grid/fg - fatiia aiferet a1 frs, option ID :- 4962,
Answer Given:- One-dimensional table or grid/Te® - fait arferet ar ﬁl?;,
Option ID : -4961

Question ID:- 1245

Given below are two statements

Statement I: DRAM consists of a number of transistors and capacitors
Statement II: DRAM needs to be constantly refreshed

In light of the above statements, choose the correct answer from the
options given below

e R e :

HYF - I : 3 AR T TH | 3[® ciforer 3R Temfva (Fuliex) afdfea g1 €1
HYF - II : ST 3R T TH B TR NG B B Sraxawar gl g

SWIT $YI & 3fald |, T fGr e faweul # F Hg SWw &1 994 DIl :
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Options:-

.Both Statement I and Statement II are false/®49 I 3R II eI 39 &1,
Option ID :- 4978,

= Both Statement I and Statement II are true/®¥ I 3R II ) 94 g1,
Option ID :- 4977,

. Statement I is false but Statement II is true/®Y I A T, foog U 11
¥ §1, Option ID :- 4980,

. Statement I is true but Statement II is false/FYT I I &, fog U 11
39 81, Option ID :- 4979,

Answer Given:- Both Statement I and Statement II are true/$Yd 1 3R II
<Y ¥ g1, Option ID : -4977

Question ID:- 1254

Arrange the following states in descending order in terms of GER (Gross
Enrollment Ratio) in higher education.

A. Tamil Nadu

B. Kerala

C. Uttarakhand

D. Sikkim

E. Himachal Pradesh

Choose the correct answer from the options given below

gﬁwﬁwamm&m(ﬁém)ﬁﬁﬁﬁgmﬂﬁaﬁmﬁmﬁ
A. TS

B. vd

C. STRTEUS

D. fafewa

E. feurae ye=r

4 fer T fawedl A | g IR BT 994 DT :

Options:-
«A, B, D, E, C, Option ID :- 5013,
« B, A, D, C, E, Option ID :- 5014,
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« B, D, E, A, C, Option ID :- 5015,

« D, A E, C, B, Option ID :- 5016,
Answer Given:- A, B, D, E, C, Option ID : -5013

Question ID:- 1232

If seven persons can build a house in 30 days, how long will it take three
persons to build the same house, provided that they all work at the same
rate?

gfe Ora sufed Bl 9= & 30 e & 991 gpd &, 9 feaa) & 39 96 & 991
Afpaa feaa, sed P g g R AP HA E ?

Options:-

=100 days/100 fé-1, Option ID :- 4925,
= 210 days/210 f&, Option ID :- 4928,
= 30 days/30 fad, Option ID :- 4927,

= 70 days/70 f&H, Option ID :- 4926,
Answer Given:- 70 days/70 ﬁ=r, Option ID : -4926

Question ID:- 1242

In electronic banking, ATM stands for

SARMP ST F YT TCA W HT R AT RTE ?

Options:-

-Automated Teller Machine/ 3¢S ¢aR HRMH , Option ID :- 4966,

» Automated Transfer Money/3ieI¢S TWR T, Option ID :- 4965,

« Automatic Transfer Machine/Gﬁ'ﬂ'ﬂﬁﬂ? §'I'\=IW LRG| , Option ID :- 4967,

» Automatic Transfer Mode/ 3ifeIAfe® TWR HIS , Option ID :- 4968,
Answer Given:- Automatic Transfer Machine/3ii¢iife® TigHR HRIE , Option
ID : -4967

Question ID:- 1224

According to Wimmer and Dominick, the sequential steps in content
analysis are:

A. Defining the population
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B. Selection of appropriate sample

C. Identifying the unit of analysis and construction of categories

D. Code, analyse and draw inferences from the collected data

E. Formulation of the research question or hypothesis by the researcher

Choose the correct answer from the options given below

frmR iRk shif® & sgaR fawgayg faxdwor & FAufafead @Ron @1 98 w0 3 ¥ -
A. U3 B gy &=

B. 3 wfdext &1 ag= s

C. fazeivur &Y @1 SR A0 Y W Bt UGIH HIAT

D. TUfRd 3P S! B Fedg 1, fawAwur &A1 iR fFrpd Fwren|

E. SNYddt gRT M g a1 uRkpedmnaeil &1 fAator s

i fou 1T fapedt A & AEt W &1 994 P :

Options:-

«A, B, C, D, E, Option ID :- 4893,
« B, C, D, E, A Option ID :- 4894,
« C, D, E, A B, Option ID :- 4895,

« E, A, B, C, D, Option ID :- 4896,
Answer Given:- A, B, C, D, E, Option ID : -4893

Question ID:- 1233

If the difference between compound interest and simple interest on some
principal amount at 20% for 3 years is Rs 64, then the principal amount is

gfe fedt qoree W 20% Ft &R A 3 a9 & T Tpgfs = MR ATYRT TS BT 3R
64 ¥Ud g, dl 98 AU 1 Be|

Options:-

«Rs 375/% 375, Option ID :- 4931,
» Rs 495/% 495, Option ID :- 4929,
» Rs 500/% 500, Option ID :- 4932,
« Rs 550/% 550, Option ID :- 4930,
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Answer Given:- Rs 495/% 495, Option ID : -4929

Subject : GP_24NOV_SH2_C

Question ID:- 1260

According to the passage, effective emotional labour management involves

TR & SUR, YHTd YTaTH® 49 yaeq o Fa1 Jfefd giar 8 ?

Options:-

«Acceptance of emotional dissonance/HTdATH® faTfa #t wiwrddr, Option
ID :- 5037,

» Display of friendly emotions/ﬁiﬂ'q:llf YTGATSHT BT HE'EZ&[, Option ID :- 5039,

= Free expression of feelings of frustration/$a1 @ HIG-I3( &t gad Sifiaafa,
Option ID :- 5038,

= Sidetracking the learned emotions/Jddl 7§ Hra-T3 &1 Ut & ¥@H1, Option
ID :- 5040, _

Answer Given:- Display of friendly emotions/ﬁiﬂ'{ﬂf Y3 BT uaszf:r, Option
ID : -5039

Question ID:- 1256
Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But
emotional labour is relevant to almost every job. At the least, your
managers expect you to be courteous, not hostile in your interactions with
co-workers. The true challenge arises when employees have to project one
emotion while feeling another. This disparity is emotional dissonance, and
it can take a heavy toll. Bottled up feelings of frustration, anger, and
resentment can eventually lead to emotional exhaustion and burn out.
Emotional dissonance is like cognitive dissonance, except that emotional
dissonance concerns feelings rather than thinking. It is from the
increasing importance of emotional labour as a key component of effective
job performance that we have come to understand the relevance of
emotion in every field.

Emotional labour creates dilemmas for employees. There are people with
whom you have to work that you just plain do not like. Maybe you
consider their personality abrasive. Maybe you know they have said
negative things about you behind your back. Regardless, your job requires
you to interact with these people on a regular basis. So you are forced to
feign friendliness. It can help you, on the job, especially if you separate
emotions into felt or displayed emotions. Felt emotions are an individual's
actual emotions. In contrast, displayed emotions are those that the
organisation requires workers to show and considers appropriate in a
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given job. They are not innate; they are learned. Similarly, most of us
know we are expected to act sad at funerals, regardless of whether we
consider the person's death a loss and to appear happy at weddings even
if we don't feel like celebrating. Research suggests that at workplaces, it
is expected that we should typically express positive emotions like
happiness and excitement and suppress negative emotions like fear;
anger; disgust and contempt.

fFrafafaa i 1 wegd® u¢ ok sl & Swe &

YTATHS 9H B STURYT 4T &5 & ISHRI & AT A U g1 fog Hrarers 941
T TP AFR & T Ui 31 SMTUST USUF 3T A $H A $H T8 3AUST 39T §
& 3y S Wewhfal & Ty Y sageR &¢ MR faguyf sgagr 9 $31 T=h g a9
ST Bl § 9 U] b1 fHdl UTaT DI UGRid ST USal § odie d Big gast
YTHT HETH PR 32 Bid & | T8 fawwrfa uiaarere fasvrfa searndt 8 ok 98 W@y & fi
TP R® g APdl 31 $oT, HIY 3R AW B TRA UIGAT ¥ 3idd: HTaTHS YH gidl 8
3R =fdRT Ya-TdH® U A g ordT 81 HIaTd fafa Iymrere fodnfa & 99H 8,
ey 39% 5 yrasere famfa fRide & soma yraAms & afta gt 81 yurd ord
foTe & Te UgW 9ed & $U § UIGHATHS 90 | YIa1e & URikidar oF ausn
TGl 81 UTTATHS Y| HHaTNal & g gfawr Iaa ovar gl arruaﬁﬁ@r@ﬁ%mum
BT USdl § g 3y faaga wig 7 F3d &1 8 gPdl 8, 3 I7% AfRId Hi
gy ATd 8f1 8 Iharl © fF 3y g8 oI &) fp 3= 3mud s fiw emuss v o
THRIA® d1d Fal &1 $IP FIae[g, U ISHIR P WifaR TS 39 AN & 1y Fafia
YR R 3fa:fpar H31t usdl 81 s9feT smust B=fiurg @1 fezarar &A1 usar 3|
fa=iu®R, afe 3y yraATeH Y SFYa UTa-TIS a1 Ueikia YaHTs § S[e -3 H a9
ammmﬁwﬁmﬁmm%leﬂwwﬁﬁmﬁﬁ
YTGATE gl &1 39 faudia, welkia yeamg 3 gidl 8 o 35 Twe fasdt & faRiw &
fore waiva grT uelRid fPT oM F efam @ & ok 3= 3Sfea amFar 81 9 safifRa
YTGETY 81 gidl 8 ; 3 A 75 Yra=e gl 31 53t U 80 § ¥ Siftrei=r @hr i &
%mﬁwﬁr%aﬁnwﬁ 3 UGRRIT HI1 B (Uem #I Al 8, W g gu
ww%raﬁqqaﬁw&rﬁmﬁ mqnﬁamvniﬁmﬁmﬁaﬁaﬁar&&naﬁ
% YA € &7 TRIAaT HEgH P AT 7 B3| MY T§ SR § 15 H1d Il U= Ig Ue
STt 8 fF g Jri=ad: vt SR SoTE oY P RIS UTal 3 Uefkid &1 d1fiee
?renmrcr,aﬁ d, &NH 3R AU I THRIAS HTal B gfFd HIAT AT

The basic principle of emotional labour management is:

HIGITP YH Yo &1 girardt Rigia @ :
Options:-

.Be less hostile to other employees/ 3~ HHAMNGI & Ufd FH fagw 3@,
Option ID :- 5021,

« Be polite to co-workers/ﬁ?ﬁ & yfa fa g ¥gHl, Option ID :- 5023,
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= Do not show your frustrations/ 30 $a13f ®I WERId 7 HT, Option ID :-
5024,

= Entertain only limited interaction within the organization/JTa+ & Wiaw
dad Hifa sid:fssar #31, Option ID :- 5022,

Answer Given:- Be polite to co-workers/W&ﬁff & ufa foaw ¥edl, Option ID
: -5023

Question ID:- 1257
Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But
emotional labour is relevant to almost every job. At the least, your
managers expect you to be courteous, not hostile in your interactions with
co-workers. The true challenge arises when employees have to project one
emotion while feeling another. This disparity is emotional dissonance, and
it can take a heavy toll. Bottled up feelings of frustration, anger, and
resentment can eventually lead to emotional exhaustion and burn out.
Emotional dissonance is like cognitive dissonance, except that emotional
dissonance concerns feelings rather than thinking. It is from the
increasing importance of emotional labour as a key component of effective
job performance that we have come to understand the relevance of
emotion in every field.

Emotional labour creates dilemmas for employees. There are people with
whom you have to work that you just plain do not like. Maybe you
consider their personality abrasive. Maybe you know they have said
negative things about you behind your back. Regardless, your job requires
you to interact with these people on a regular basis. So you are forced to
feign friendliness. It can help you, on the job, especially if you separate
emotions into felt or displayed emotions. Felt emotions are an individual's
actual emotions. In contrast, displayed emotions are those that the
organisation requires workers to show and considers appropriate in a
given job. They are not innate; they are learned. Similarly, most of us
know we are expected to act sad at funerals, regardless of whether we
consider the person's death a loss and to appear happy at weddings even
if we don't feel like celebrating. Research suggests that at workplaces, it
is expected that we should typically express positive emotions like
happiness and excitement and suppress negative emotions like fear;
anger; disgust and contempt.

Frafafea T ot emgde ue ok vl & IW S

YTITEHS 97 DI ATURON JGT &7 & AoFIRI & AT I IWA g1 g Wrarws ym
T TS ISR & T URifiies 31 SMTUST Yae® M0 A $H A $H Tg MU 39T 8
o ey erue gewlifal & A1y Ry FgeR #¢ iR faguyef syagR = #¥1 w=it gl a9
S gidl § 19 HHANNG! B fHet UTTAT BI USRI HAT Usdl § TaiP d HIg gast
YTHT HETH PR 32 B ¢ | T8 fawwifa uraarere fasrfa searndt § ik 98 ey & feu
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TIOR® & Dl 81 FoT, HIY 3R AT BT TR HUTGHT H 3idd: UIGATHS YB Sidl &
3R fRT YIa-Td® U A g SrdT 81 HIaTH e Iymrers foinfa & 99H 8,
Ryara 59% & HaaTe fagnfa e & s yraamel @ Sdfta gidt 81 vt &t
froareq & U@ YW ged & U A UIGATHS 49 H U I UrEiiiedr o qus
SITET 81 HTIATHS Y| HHATRAl & e giawr s Hvar g1 Mudt 0 ATl & a1y $
HAT1 USal § g 3y faaga wig 78 #3d &1 8 Pl §, 3 I7% AfRid Hi
3rqgdf A1a gf1 8 Ipar 8 & 3y g a8 fF 3= emus fis fie smud IR A
THRIA® d1d Pal &1 $IP FIae[g, U4 JSHR P WIfaR TS 39 AN & Ty Fafia
YR W 3ia:fopar S us<dl 81 sHfee sy AfivTa @1 fe@rar &+ usdr g1
faRiu®z, afe sy yreATe & Sgyd yra-sH a1 uehRia yraHTe # S-S H AD
a1 SUR SATD! U AR H Feradr i Tl 81 Sgyd UTaATE Jfad 3t aRafa®d
YIGATE Bl &1 59% faudla, veffa Heang 3 gkl § o &5 e+ fdt o= ARy &
fore kil g1 uefia fre o @t srden vaar @ ok 3% 3fa arHar 81 9 siafifea
YTa-Te 81 gidl & ; 3 Wt 71 Hra=me gt 81 s+t v sw # A st @it wHa §
& sad et aufda & sifaq IwpR A g9 uehia $== &1 srden ot ot g, Hd & §q
S AT B g b1 TP &ifd U A1 9 AF a7 AEH-TARE § 7 fem &t srem &1
STl 8, Yo g 39 THAdT Uy B a1 7 B Y 98 S¥d 7 fp vt Rial R g5 e
FI STl 8 fF g I=ud: TadT 3R STE Wi PRIAS HTdl Y UehRid &A1 a1fiee
dUT Y, HIY, &Y 3R TH Y THFRIA® UGl B ST HT IA1fgu|

Within an organization, emotional dissonance affects

et Hre # wraATee T fed wanfaa st @ 2

Options:-

«Cognitive consonance /IS SII=Udl, Option ID :- 5025,

» Constructive thinking /IdATH® ﬁi?ﬁ, Option ID :- 5028,

. Effective job performance/YHTdl &1 fAsured, Option ID :- 5026,

» Solutions to labour issues/4H 13?3 HT JHTYUTA, Option ID :- 5027,

Answer Given:- Effective job performance/m-ITEf'T Can] ﬁ'&lTE-'-I, Option ID :
-5026

Question ID:- 1259
Study the given table and answer the questions that follow

Given below is a table in which the total nhumber of employees in different
departments of an organization along with the Male and Female ratio is
given.

Regular Employees |Contractual Employees

Departments Total Number Ratio Total Number Ratio

M |F M |F
IT 250 1 (1 [240 2 |1
Accounts 123 2 |1 |130 3 (2
HR 90 3 |2 |30 2 |1
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Marketing 350 5 343 5
Production [304 5 |3 |351 5 4

N
N

frafafed e #) aFgde e ok vl & Iwe 3

YTATEH® YT BI SGURTN AT &F & ISHRI & ST o IU g1 fobeg UTarens 99
T TS ISR & T URifiies 31 SMTUST Yae® 30 A $H A $H Tg U 39T 8
fr oMy 3 el & 1Y NP yaeR &9 iR faguyel sqagR 7 #31 I=it gl 99
S gidl § 19 HHATNG! B fHHt UTTAT BI USRI HIAT Usdl § Ta(P d HIg gast
YTTT HETH PR 32 BId ¢ | T8 fawwrfa uraarere fasrfa seandt @ ok 98 Wy & feu
TP R® g APl 31 $oT, HIY 3R AW B TRA UIGHT ¥ 3idd: HTaATHS YH gidl 8
3R AR UTTATHS U A g TaT g1 HTaATHD [aiTfd JgHTeds fainfa & 99 g,
ey 39% 6 yrare fagmfa fRiae & goma yraAms & Sefta gt 81 vyt ot
foTe & Te UgW 9ed & $U § YIGHATEHD 90 § UGS & URiRiddr oF aus

SITaT 81 UTaATHS 9H HHaTNal & fg gfaw Iaa wvar g1 arruﬁﬁﬁﬁﬁ%m%rm
BT USdl g o 3T faagpd Wig 78 #3d 81 8 9Pdl 3, MU 3P AfdId DI
redf A g1 8 gwar @ i 3mu a8 wa B f SiA eimud e fie smuds Ik |
TPRIAS d9d Dol ¢ | FTP d1A9G, U4 AR BI WIfaR MUS! 37 @ & Ty Frafia
3TYR TR SHe:fha1 Bt Ugell 81 TARIY 3Tyt AAMuTa $1 fe@rar 1 v &l

%
9 fdd &t g b1 TP &fd A1 a1 9 9 a7 - ]
STt 8, U g1 8 UHAdT Tggd B9 U1 7 Bl MY Ig Sd 3 b o1 waAl R T8
@1 Wl § for g A=Ia: T 3R IR O ABRIAS YAl B YGiRId HAT Mgy
d, &Y 3R U S TPRIAS HTGl B ST BT 91T

%

Which of the following feelings one should feign at a workplace?
A. Fear

B. Excitement

C. Contempt

D. Happiness

Choose the correct answer from the options given below
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o1 Wd R el aafed o) fFafefaa & @ o9 H yraarsi &1 fearar «-r @ifgu 2
A. YO

B. 3SITe
C. 3dHH

D. Tl

M= fer e faweal & | I W A :

Options:-

.A and B only/%dd A 3iR B, Option ID :- 5033,
= B and C only/%dd B 3R C, Option ID :- 5034,
» B and D only/%4dd B 3fR D, Option ID :- 5036,

« C and D only/%dd C 3R D, Option ID :- 5035,
Answer Given:- B and D only/%dd B 3fiY D, Option ID : -5036

Question ID:- 1258
Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But
emotional labour is relevant to almost every job. At the least, your
managers expect you to be courteous, not hostile in your interactions with
co-workers. The true challenge arises when employees have to project one
emotion while feeling another. This disparity is emotional dissonance, and
it can take a heavy toll. Bottled up feelings of frustration, anger, and
resentment can eventually lead to emotional exhaustion and burn out.
Emotional dissonance is like cognitive dissonance, except that emotional
dissonance concerns feelings rather than thinking. It is from the
increasing importance of emotional labour as a key component of effective
job performance that we have come to understand the relevance of
emotion in every field.

Emotional labour creates dilemmas for employees. There are people with
whom you have to work that you just plain do not like. Maybe you
consider their personality abrasive. Maybe you know they have said
negative things about you behind your back. Regardless, your job requires
you to interact with these people on a regular basis. So you are forced to
feign friendliness. It can help you, on the job, especially if you separate
emotions into felt or displayed emotions. Felt emotions are an individual's
actual emotions. In contrast, displayed emotions are those that the
organisation requires workers to show and considers appropriate in a
given job. They are not innate; they are learned. Similarly, most of us
know we are expected to act sad at funerals, regardless of whether we
consider the person's death a loss and to appear happy at weddings even
if we don't feel like celebrating. Research suggests that at workplaces, it
is expected that we should typically express positive emotions like
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happiness and excitement and suppress negative emotions like fear;
anger; disgust and contempt.

fraffad T $ wgde g SR el & SR &

YTATH® YU B SGURTT AT &F & JASHRI & Jqaq— A IU 31 fobeg yTarens 9w
T TP ASNR & oI Uil 81 3MuehT U 3T A $H A $H I8 3UST IWdT &
& 3y 3= Wewlifal & Ty Ry s7agR &¢ R faguyl sgagR 9 $31 T=h g a9
IT Bl 8 5 HHaal ) fHdt Ut &1 uefRia #3A1 usar § 9afe 3 BIg gt
T UG < 3¢ Bid &1 a8 faumrfa Hiarere favinfa weard! 8 8k a8 Wy & fie
PR g THdl 81 FST, Iy 3R AW Pt TR UG I 3ida: YIG-THS I gl 8
3R afdd HTaTH® $U A g¢ ST 81 HIaTdHS faifd HTES fawinfa & 99 g,
Ryarg s9& f& HaaTde foanfa Rida & seimg vamel 9 Hdfta gidl 81 uHTd &t
e & Te UgE 9¢d & $U § YIGATHS 90 § YIa13 f URikiear o ausn
STl 8 | WIGATcH® YW U] & e gfaem s &l g1 Mus! T a N & |1y $1H
H1 UsdT g g oy fyagpe udig 18 vd &1 8 THaT §, MU 3P Afaad di
Srqedf A 811 8 oar 8 fF oy ag wiFd §f P 3= emud e fis smuds O #
THRIA® d1d Fal &1 3IP FIA6[g, U ISHIR I WIfaR TS 39 AN & Gy Fafta
YR R 3fa:fopar H3t usdl 81 sHfeT emust B=fiure @1 fearar &A1 usdr 3|
faRiu®y, afe ey yraATe &t SgYd yTa-TaH a1 uehRia WraHTe # S-S H AD
ammmmﬁmmmau YA UG- Jfqd ot aRdafa®
tmﬁsﬁﬁ%sﬂ%ﬁqﬁa,w&hmm%ﬁ%ﬁ%ﬁé?hmﬁmm%
e wraTial gRT uelRia fee oM @1 sriem Waar 8 sk 3% 3Ra aFar 31 9 siaf+fed
YTGETY 781 gidt & ; 9 A 75 Yia=e gt 31 531 R 80 § ¥ Siftrei=r @hr oiFd &
5 gad fonddt safda & sifaw SR & g ughRia v ot e $t Al g, Ud 8 g9
wwf%raﬁqagaﬁw&rﬁmﬁ T = {4 94T S-GURIE | U9 fg@ 1 3ruem ot

%,uﬁtﬁsnmwaﬁmqaﬁl MY 98 VT & P HTd WA W T e
oI ATt g {5 6 I v SR SNIE O IPRIEA® HTal B ekl ST 91ty
qUT YY, B, &Y 3R A S TFRIAP UTEl I R HAT T1fgul

In a workplace environment, labour managers should give preference to:

ST A F qIaraR d 47 JeuD! o1 fFafafea § 4 5 yufrear ¢ aifte 2
Options:-

.Displayed emotions/WgRid Hta=rsii ®I, Option ID :- 5029,

» Expressions of frustrations/%raﬁ @t Sifraafad ﬂﬁ, Option ID :- 5032,
« Felt emotions/3JYd YTGHT3M @I, Option ID :- 5030,

. Negative emotions/T®RIH® HTGHT3I P, Option ID :- 5031,
Answer Given:- Displayed emotions/‘;laﬁf'cr yra-rai &ﬁ, Option ID : -5029

Subject : 28Urdu setl_A
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Question ID:- 1911

S bl s 8 aar b LB

glove UsMtes (@) .-.“1"!:‘(;30" (1)
I bl @
Options:-

«1, Option ID :- 7641,
« 2, Option ID :- 7642,
» 3, Option ID :- 7643,

» 4, Option ID :- 7644,
Answer Given:- 1, Option ID : -7641

Question ID:- 1968
: L,E{LEULJ‘L/J}:LJ:;B
.cf,,af’if:.fbff'-;t%ci,.oﬁg-:, Lol @
;l_?}ijl:.-h'-?-ﬁ,!Lv::a('féu-l/yic.-Ef (B)
NP IS A T - DS ) e
JJ.?.*'_.UJ J q’__..lfjgu"f -lfli_ﬁ:"' (D)

¢ :
éjbbjé.-/fzf

(B2l (A (@) (D). (A) (1)
(D)2 (C)y  (4) (CrM (B (3)
Options:-

«1, Option ID :- 7869,
« 2, Option ID :- 7870,
« 3, Option ID :- 7871,
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« 4, Option ID :- 7872,
Answer Given:- 2, Option ID : -7870

Question ID:- 1920

sty D) ()
&4 ol (3)
Options:-

«1, Option ID :- 7677,
« 2, Option ID :- 7678,
« 3, Option ID :- 7679,

« 4, Option ID :- 7680,
Answer Given:- 1, Option ID : -7677

Question ID:- 1963

& & ‘{»‘
-uﬂgzﬂ&fﬁfjfﬂ)' ;;_-_,#J,Uc‘.-u':pti
L..-‘ I."._? uf: l"'.’ .v( J -.,-ri’ L.J |'; (A)
b Ak Ls ¥ UF U U

“bfé.é,&ucg (B)
J:Jj:.{,l«}b’d'..tviif':

| |
Lo Ue o S <Z b l-f' (C)
b F i ¥ Zb L

-
4 p

|
-4 -~ |' ¥
L 5L L% U E o
i ot
J:; Ir'{[l 0 A 8 J1
5 )
:ﬁ'dilﬁ{j;f}g
(C) .M (B) (©2) (D). (&) (1)

) VL R IR EN (B) .4 (A) (3)
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Options:-

«1, Option ID :- 7849,

» 2, Option ID :- 7850,

« 3, Option ID :- 7851,

« 4, Option ID :- 7852,
Answer Given:- 1, Option ID : -7849

Question ID:- 1964
e i
: pﬁéizf}gi;b) L.:uc."“’r_..;;»z..gcgti
| -~
...fll"ff;, b'a:,a_rf-._.«'}"}lc,,[: (A)
- ~ | i
L;!b-ulﬁvrab'-djil (B
_r" -
J}’Jigﬂun‘;:lfﬁlf (C)

é,,-;sffac{/"'lilf-swb/::’ (D)

:édﬁﬂfhﬁ;ﬁg

(C) 221(B (2 (C) sl (A (1)
M NE© D (D) (A (3)
Options:-

«1, Option ID :- 7853,
» 2, Option ID :- 7854,
»« 3, Option ID :- 7855,

« 4, Option ID :- 7856,
Answer Given:- 3, Option ID : -7855

Question ID:- 1928
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W = ::" i : & A Lk
Ll u/:.,fmuuf‘r:,w S FR e 2 l

?d..'.-i?‘ad.-.f E(pr”fiﬁtg.j'"ﬁ

. d:;r/ (4) jr*,f'{;jr*,f""(f,tﬂ (3)

Options:-

»1, Option ID :- 7709,
»« 2, Option ID :- 7710,
« 3, Option ID :- 7711,

» 4, Option ID :- 7712,
Answer Given:- 4, Option ID : -7712

Question ID:- 1966
tJbﬁ,!:u}f:.aujé-/JJJucpti
Sl e BT Bk i8S @
-ﬁjidbﬂ/g-uﬁuﬁ*fﬂ”f&éllfjt‘; (B)

-

-JUT{J:; J.;-LJLZL;,""‘] :J’""‘-Lﬁ:xig?:/" ¥ (©

a 1

. S : o
-L,‘-‘JLuﬂx’lﬁj*ﬁfiﬂ'a‘bi?"uj’”i? (D)

- éé.* Jar | .
2 EGLPOUs A e

BrA @) @) (C).4l (B) (1)
M C) (4 (D).l (A) (3)
Options:-

«1, Option ID :- 7861,
»« 2, Option ID :- 7862,
»« 3, Option ID :- 7863,

« 4, Option ID :- 7864,
Answer Given:- 3, Option ID : -7863
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Question ID:- 1994
étj;mj_.f?g
Crn g A Lo=IIbs pl-sT -0 1 5d )
E,-s‘.‘li:«:_;-ljiu'@vﬁi/z-l"L’Z;}.;i}’"f._,‘-/l'"ﬂ}r::ij (2)
b3 =Ly A= T B-0 127 )

-#f F o, | " . L
b3l =T =L s 5T Lz Al ()

Options:-

«1, Option ID :- 7973,
« 2, Option ID :- 7974,
« 3, Option ID :- 7975,

» 4, Option ID :- 7976,
Answer Given:- 3, Option ID : -7975

Question ID:- 1939

e o
?éu!.fjd.f?uﬁ L.?L.-’/Obgﬁb

JHOU (2) JbO ¥ (1)
. I
2 @ ¢ Lo (3)
Options:-

«1, Option ID :- 7753,
» 2, Option ID :- 7754,
« 3, Option ID :- 7755,

» 4, Option ID :- 7756,
Answer Given:- 3, Option ID : -7755

Question ID:- 1929
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E';;ﬁdi@lb’u’"dﬁ.ﬁwigr"

;'L'{_',f;.:.f:{ﬂ (2) ._BL';ZM (1)
JA:‘::.D?.-I/ (4) LE:LT#—-&#J-K (3)

Options:-

»1, Option ID :- 7713,
» 2, Option ID :- 7714,
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« 4, Option ID :- 7780,
Answer Given:- 2, Option ID : -7778

Question ID:- 1933

pr w1 R ‘s
Y/ EK&JL;;OQR’L/CLIL?.QL!{E‘O & L,-i':;'/

’ b s .
Je 2 @ U~ (D)

L,Ef J/[/ (4) Qmjr'[,'f (3)

Options:-

«1, Option ID :- 7729,
» 2, Option ID :- 7730,
« 3, Option ID :- 7731,

« 4, Option ID :- 7732,
Answer Given:- 4, Option ID : -7732

Question ID:- 1977
( e "'. L
. ..f:.: (& _t:’ .-ﬁ }K f;;

l?,J,J..:uf{ @D L,&‘“JJJJL;( (A)

Jbuly @ Jegbli . ®
AL Foam [J;'L,'L%L_?m’t'f (©)
;{édL} ) Lfggu/;g,g D)

(IV) (C)(Iy (D)«(IIT) (B)«(I1y (A) (1)

(IT) (D)(TIT) (A)(IV) (C)(I) (B) (2

(I (A)(IIL) (By«(Iy (D)«(II) (C) (3)

(IV) (B)«(I11) (A(II) (C)(I) (D) (4)

Options:-
«1, Option ID :- 7905,

https://ntaresponsesheetphase2.cbtexam.in/ugcnet/candidate/responsesheet.aspx?Urlval=b94b764d-8a3d-4525-a350-d738ae74d4b7&RolIn...  64/104



1/21/22, 10:12 PM Response Sheet

»« 2, Option ID :- 7906,
« 3, Option ID :- 7907,

» 4, Option ID :- 7908,
Answer Given:- 2, Option ID : -7906

Question ID:- 1952
Ut

sl b Jbafla o o UL LN

= P
L}Wuﬁ I.'JL‘I L'U;l T I';A"“‘b "Jr L"LCKJJ
316384y izl Al UL G

2B (T P LK

7 .
:&gfﬁ._;ﬁ’ér‘_-; JZ,“;J

(By.Al (&) (@) (C) A (B)
D)) (4 (D)2l (C)
Options:-

«1, Option ID :- 7805,
» 2, Option ID :- 7806,
» 3, Option ID :- 7807,

» 4, Option ID :- 7808,
Answer Given:- 1, Option ID : -7805

.Lf/,}:u L3

(A)

(B)

(C)

(D)

(1)

(3

Question ID:- 1969

https://ntaresponsesheetphase2.cbtexam.in/ugcnet/candidate/responsesheet.aspx?Urlval=b94b764d-8a3d-4525-a350-d738ae74d4b7&Rolln...

65/104



1/21/22, 10:12 PM Response Sheet

(i L,F}I-*?-L;:B’j._l,.{!f[i
L/ T_FE.L,CV ;_,!"!:L#é’ ¢ %
U L,E::Jﬁkh_r{'*{:jf:]' @;-:FJT;»LE'

sk ST 2 faZ bl

: édﬁxﬁi&;/;é‘

(€A (@) (C).8 (B)
(D)2 (B (4) (B2 (A)
Options:-

«1, Option ID :- 7873,
« 2, Option ID :- 7874,
« 3, Option ID :- 7875,

=« 4, Option ID :- 7876,
Answer Given:- 1, Option ID : -7873

VCC";;;‘.-EVLJ";.J I Un L,ti

(A)

(B)

{C)

(D)

(1)

(3

Question ID:- 1993
é - ll'.I '.<’ . "~ -
3 ~U.;l'?u..,.¢;~f - LM)L;EJ;
s ...."‘Jf’) '-_-*-.“[;,._”_ s
v ili p=s fr o | aF =0 2 20 =1L
!r,-fjjﬂ-,_;l,ngi_g""ﬁf:: i-Cs @
/I{ﬁ-;; —,C o=y ili p (3)

F .C)l . o wh
If;'r;}f_,.*;)":ﬂ‘:} i.&*’_z‘;r:: .;_Jb_;-"'f #"'-"‘kua'r.-' i4)

Options:-
«1, Option ID :- 7969,

https://ntaresponsesheetphase2.cbtexam.in/ugcnet/candidate/responsesheet.aspx?Urlval=b94b764d-8a3d-4525-a350-d738ae74d4b7&Rolln...

66/104



1/21/22, 10:12 PM Response Sheet
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« 4, Option ID :- 7972,
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«1, Option ID :- 7925,
« 2, Option ID :- 7926,
« 3, Option ID :- 7927,

» 4, Option ID :- 7928,
Answer Given:- 1, Option ID : -7925

Question ID:- 1935
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:fpb’lﬂi'."f (4) 2:- (3)
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Options:-

«1, Option ID :- 7737,
» 2, Option ID :- 7738,
« 3, Option ID :- 7739,

» 4, Option ID :- 7740,
Answer Given:- 1, Option ID : -7737

Question ID:- 1956
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s Rz (RONL

(Cral (B (@) (D)4 (A)
(© A (@) (D2 (C)
Options:-

«1, Option ID :- 7821,
« 2, Option ID :- 7822,
»« 3, Option ID :- 7823,

« 4, Option ID :- 7824,
Answer Given:- 4, Option ID : -7824
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(C)

(D)

(1)

(3)

Question ID:- 1957
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(B) (A (2) (C)8 (B) (1)
D) (B)  (4) (D)2l (C) (3)
Options:-

«1, Option ID :- 7825,
» 2, Option ID :- 7826,
« 3, Option ID :- 7827,

» 4, Option ID :- 7828,
Answer Given:- 1, Option ID : -7825

Question ID:- 1917
sg L '
?;—-Uﬁudatfﬁflﬁ*f(b L,‘J?/S_-L.xr:pthg;i"
LE} (2) L;_fof (1)

AL @ —¥l A 3

Options:-
«1, Option ID :- 7665,
»« 2, Option ID :- 7666,

https://ntaresponsesheetphase2.cbtexam.in/ugcnet/candidate/responsesheet.aspx?Urlval=b94b764d-8a3d-4525-a350-d738ae74d4b7&Rolin...  85/104



1/21/22, 10:12 PM Response Sheet

« 3, Option ID :- 7667,

» 4, Option ID :- 7668,
Answer Given:- 4, Option ID : -7668

Question ID:- 1985

c,r&,!-..f* D 1] ,,:‘u[‘:t,f (A)
b BT (1) L;!L{,Uf;j[ (B)
Py i o B .
O A5k ) CLAC 15 (©
<% a n.*.hf"g (D)

(IV) (D)1 (Cy(I1) (By«(III) (A) (1)
(IV) (Dy«(III) (A)(I) ( C)«(II) (B) (2)
(1) (Dy(IV) (C)(III) (B)«(II) (A) i3

(IV) (A)(TIT) (By(II) (Dy(I)y (C) (4)

Options:-

»1, Option ID :- 7937,
»« 2, Option ID :- 7938,
»« 3, Option ID :- 7939,

« 4, Option ID :- 7940,
Answer Given:- 3, Option ID : -7939

Question ID:- 1938
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UJJEQ"‘,)!L{/ (2) Lb,-b_;r’..:ﬂ ¥ (1)

Lﬁjidwf (4) ;_JG;-""*;:;’/ (3)
Options:-

«1, Option ID :- 7749,
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»« 2, Option ID :- 7750,
« 3, Option ID :- 7751,
« 4, Option ID :- 7752,

Answer Given:- 2, Option ID :

Response Sheet

-7750

Question ID:- 1951

W e
"

< pindels

-Lﬁlﬂu’:?’ﬁuﬁ/{

«1, Option ID :- 7801,
« 2, Option ID :- 7802,
« 3, Option ID :- 7803,
» 4, Option ID :- 7804,

Answer Given:- 2, Option ID :

(A)
AL S e ®
-J'{J’JL "v’“ 1!35& (C)
L n,v,_,._;f.;,fi'_,:ﬁ? (D)
454_,, ,»L/?{jp'}_,/,a{};
(©. (B @ (B).Al (A) (1)
(O Ay (4 O (3
Options:-

-7802

Question ID:- 1922

Ny, 1 (2)

;;,Cf,ce;.;_;'gf (4)

Options:-
«1, Option ID :- 7685,
» 2, Option ID :- 7686,
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« 3, Option ID :- 7687,

» 4, Option ID :- 7688,
Answer Given:- 4, Option ID : -7688

Response Sheet

Question ID:- 1961

ﬁ’J:(

© JA®B @

D M) @)

Options:-

»1, Option ID :- 7841,
» 2, Option ID :- 7842,
« 3, Option ID :- 7843,

« 4, Option ID :- 7844,
Answer Given:- 3, Option ID : -7843
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(A)

(B)
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(D)

(1)
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Question ID:- 1955
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(Cral (A (@

(Cy2 (B) (&)

Options:-

«1, Option ID :- 7817,
»« 2, Option ID :- 7818,
« 3, Option ID :- 7819,
» 4, Option ID :- 7820,

&

L‘:}

UL

Answer Given:- 3, Option ID :

J}J

-7819

Response Sheet

Z¢ 2

Pl on AL

(D). (C)

(D)2 (A)
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< Pine A0

(A)

(B)

(C)

(D)

(1)

(3

Question ID:- 1991
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J'L yx é:r 4T f_,y"f/ (D)
(D)« (C)«(B) (2) (D)« (B) «(A) (1)
(C)«(B) «(A) (4) (D)« (C) «(A) (3)

Options:-

«1, Option ID :- 7961,
» 2, Option ID :- 7962,
« 3, Option ID :- 7963,

» 4, Option ID :- 7964,
Answer Given:- 3, Option ID : -7963

Question ID:- 1979
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Options:-

Response Sheet
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LS
S E

:’If":'-.-"-'-f
(IL) (Dy(IV) (C)(IIL (By(I) (A)
(IL) (Dy(I) (C)«(IID) (A)(IV) (B)

(IIL) (B)«(IV) (A<D (D)(I1) (C)

(IV) (A)(TIT) (B)(IL) (Cyi(I) (D)

«1, Option ID :- 7913,
» 2, Option ID :- 7914,
« 3, Option ID :- 7915,

« 4, Option ID :- 7916,
Answer Given:- 1, Option ID : -7913
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Question ID:- 1959
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r ;
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- 52 £
:Zéudl?’(_j;../:ég

(Cyal (A (2 (D).l (C) (1)
Dy @ (D)2 (B) (3)
Options:-

«1, Option ID :- 7833,
»« 2, Option ID :- 7834,
« 3, Option ID :- 7835,

» 4, Option ID :- 7836,
Answer Given:- 1, Option ID : -7833

Question ID:- 1947

" i
ﬁ;{,ifu”ﬁ (2) J;r:ggfdf; (1)
PR v '1 "y .
Glis o2 @ 34406 3

Options:-

«1, Option ID :- 7785,
» 2, Option ID :- 7786,
« 3, Option ID :- 7787,
« 4, Option ID :- 7788,
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Answer Given:- 2, Option ID : -7786

Response Sheet

Question ID:- 1987

Options:-

»1, Option ID :- 7945,
» 2, Option ID :- 7946,
« 3, Option ID :- 7947,

« 4, Option ID :- 7948,
Answer Given:- 3, Option ID : -7947

Subject : 28Urdu setl1_B

Question ID:- 2006
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% wd &
J:E,/f’u,:v; (4) unﬂ/uf’l’ (3)
Options:-

«1, Option ID :- 8021,
« 2, Option ID :- 8022,
»« 3, Option ID :- 8023,

« 4, Option ID :- 8024,
Answer Given:- 3, Option ID : -8023

Question ID:- 2009
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Options:-

«1, Option ID :- 8033,
» 2, Option ID :- 8034,
« 3, Option ID :- 8035,

» 4, Option ID :- 8036,
Answer Given:- 4, Option ID : -8036

Question ID:- 2007
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Options:-

«1, Option ID :- 8025,
» 2, Option ID :- 8026,
« 3, Option ID :- 8027,

» 4, Option ID :- 8028,
Answer Given:- 4, Option ID : -8028

Question ID:- 2010
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Options:-

«1, Option ID :- 8037,
« 2, Option ID :- 8038,
« 3, Option ID :- 8039,

»« 4, Option ID :- 8040,
Answer Given:- 4, Option ID : -8040

Question ID:- 2008
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Options:-

«1, Option ID :- 8029,
» 2, Option ID :- 8030,
« 3, Option ID :- 8031,

» 4, Option ID :- 8032,
Answer Given:- 2, Option ID :

Response Sheet

_ L’J&Li“.‘luyrturp I
ﬁ;%bf (1)

| (3)

-8030

Subject : 28Urdu setl_C

Question ID:- 2011
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-;:..b,fu%uﬁgita;:.-lé.bﬁ.:a}“’ (4)

Options:-

«1, Option ID :- 8041,
« 2, Option ID :- 8042,
»« 3, Option ID :- 8043,
« 4, Option ID :- 8044,
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Answer Given:- 3, Option ID : -8043

Question ID:- 2013
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Options:-

«1, Option ID :- 8049,
» 2, Option ID :- 8050,
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« 3, Option ID :- 8051,

» 4, Option ID :- 8052,
Answer Given:- 2, Option ID : -8050

Question ID:- 2012
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Options:-
«1, Option ID :- 8045,
» 2, Option ID :- 8046,
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« 3, Option ID :- 8047,

« 4, Option ID :- 8048,
Answer Given:- 2, Option ID : -8046

Question ID:- 2015
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1/21/22, 10:12 PM Response Sheet

Options:-

«1, Option ID :- 8057,
« 2, Option ID :- 8058,
« 3, Option ID :- 8059,

» 4, Option ID :- 8060,
Answer Given:- 1, Option ID : -8057

Question ID:- 2014
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Options:-

Response Sheet

«1, Option ID :- 8053,
« 2, Option ID :- 8054,
» 3, Option ID :- 8055,

» 4, Option ID :- 8056,
Answer Given:- 3, Option ID : -8055
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